December 15, 2014

How High Is It?

The cylinder pictured below has a surface area of 660 cm?.

Use the following formula to determine the height of the cylinder:
Surface area = 212 + 21rh

Show your work.
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The cylinder pictured below has & surface area of 660 em”.

Use the following formula to determine the height of the cylinder:
Surface area =2 + 2rrh

Show: your work.
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Learning Goals

1. To understand how to calculate the surface area of a
sphere.

2. To understand how to calculate the volume of a sphere.
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8.6 Volume and Surface Area of a Sphere

The volume for the surface area of a sphere with radius r
IS:
SA = 4xr?
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Example One
Calculate the surface area of a sphere with a diameter of
8.0 cm.
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The formula for the volume of a sphere with radius r is:
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Example Two
Calculate the volume of a sphere with a radius of 3.5 mm.
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Example Three

Rachel must buy 100 spherical balloons for $0.08 each and
enough helium to inflate them. Helium costs $0.024/L.
Each balloon will inflate to a surface area of 900 cm?. How
much will it cost to buy and inflate them?

Hint: 1cm®=1mL and 1000mL = 1L.
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Complete: p. 470 - 471 #1 - 6.

December 15, 2014



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

